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Iimf(x) =limc=cHy
X—a X—a
X
. et-1
©. lim =19
x—0 X

2 ihannUSaywissEonRImys
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mudwusw thams
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ngaws f(x) msdmditingupd a yamia
f(x) nsidlipd a 9

B S WUIMAROAIF

umsssans f(x) wsdmitiaguph a

def
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iams f oHsAESIGRE a 4
BN S WUINARGAIF

njudos ihwasaus f(x) nsihiph x=a

Wwame f(a) = tim =@

X—a X—a
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f(x) = f(a)+(x=a)(f'(@)+&(x), lim e(x) =0 4
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¢ https://tutorial. math.lamar.edu/classes/calci/DerivativeProofs.aspx#Extras_

DerPf_DefCont

oK



210N

A. iniETsHgAES f(x) = 4x° —5x + 6 4
g.1m f'(0) 8% f'(-2) 9

3 D3

stinm: g oaiels

A, ImIRTHES f(x)

iams f(x) = 4x3 - 5x + 6 Aanamssimn:
VXxelR9

ifams f(x+h)=4(x+h)®=5(x+h) +6

= 4(x®*+3x*h+3xh? +h®) —=5x - 5h + 6
=4x° +12x°h +12xh? + 4h® —5x —5h + 6 ¢

- f(x+h3]— f(x)

(43 +12x*h+12xh? +4h® ~5x—-5h+6) - (4x® — 5x + 6)
- h

_12x*h +12xh? + 4h® - 5h
- h

—12x% +12xh + 4h? -5 ¢

Mudwusw fams

f,(x):r!imo f(x+h?]— f (x)
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= lim (12x% +12xh + 4h? - 5)
=12x% +12x(0) + 4(0)> - 5=12x> -5 4
goise f'(x) =12x% -5 9
g.1n f'(0) 8k f'(-2) 9
muenn a. idhms f'(x) =12x% -5 4
3 f'(0) =12(0)> -5=-5
81 f'(-2)=12(-2)> - 5=43 ¢
2010100

A, iniETisHsars g(x) = 2x° + 3x* +12
muSwysw
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amstinm: g oaiels
A. 18 g'(x) muSwyswy
ifame g(x) = 2x° + 3x* +12 fandmssin:
VxelR9
ifams g(x+h) = 2(x+h)® + 3(x+h)* +12
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= 2 16X h+6xh% + 20° +3x* 1123 h+18x2h2 +12xh° +3n* +12 4
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SH g(X+h:]—g(X)

(20 +6xCh+6xh%+ 20 +3¢* +12x h+18x2hE +12xh3 430 412) - (23 + 3¢ +12)
h

 6x?h+6xh%+ 2h® +12x*h+18x*h?+12xh* +3h*

h
—6x2+6xh+2h%+12x3+18%x%h +12xh® +3h° 4

mulwusw tfams
gu(X): I|m g(X+h)—g(X)
h—0 h

= lim (6% + 6xh + 2h? +12x3+ 18x% h +12xh? +3h°%)
-

= 6x2 + 6x(0) + 2(0)2 + 12x> + 18x% (0) +12x(0) +3(0)°

=6x°+12x3 ¢

HOis: g‘(x):6x2+12x3 9

2.1 g'(D) 8% g'(-2)

munnt A, tfhms g'(x) = 6x% +12x3 4
125 9'(D) =6(1)% +12(1)° =18

3 9'(-2)=6(-2)?+12(-2)3=-72 ¢4
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iRouga a 9

A. Thighisnsaus y = f(x) 18lph x=a
Anndeniet f'(a7) y f_(a) R4 Anndihss

f@)= lim Y- jim 1 =1@)
Ax—0" AX  xsa” X—a
_ lim f(a+Ax) — f(a)
AX—0" AX
i f@+h) - f@
h—>0" h

iU Ax=h=x-ayx=a+Ax=a+h 9
2. iinafisusaus y = f(x) islph x=a
Anndenesr f'a’) y f, (a) §h Anndithus

fr@)= lim Y- jim 10-1@)

Ax—0t AX  xa* X—a
) f(a+Ax) - f
o f@ea - f@)
AX—07" AX

2 https:/Amww.brainkart.com/article/One-sided-derivatives-(left-hand-and-right-
hand-derivatives)---The-concept-of-derivative_36105/
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oy f@rh) - f@)
h—>0" h

iU Ax=h=x-ayx=a+Ax=a+hH

{Fajueém

ngaws f wsihiph x=a n:pia f wis

witghigiiiaipt x=a
RS WU MAR oRIg:

iwHsays f(x) nsidlipl x=a

def —_

o (@)= lim @M =1@)
h—0 h

o fra)= lim 1@ =T@) o ay
ho0 h

fra) = fim 1@ 1@
h—0"

f'@a)=f'@@) o f'@@a)=f'@")

wssSw f wsiigigmLiiaipd x=a 9
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stinm: g oaiels
A nEnis f'(xX) (p x =0 9
. -X, x<0
iwims f(x) = ) 4
X“, x>0

mudwusw ithams
f(0+h) — f(0)

f'(07)= lim
h—0" h
_ im —(0+h) — 02
h—0" h
= lim (-1)=-1
h—0~
Sh
£1(0") = lim f(0+h) — f(0)
h—o* h
_ im (0+h)% — 02
h—0™ h
= lim h=0 9
h—ot

iwhw f'(07) = f'(07)
gois: f(x) msmiipd x =0 199

2. i{muisHsAsS f 4
QBIEREY

«|-5]-4]-3]-2]-1

Y| 5 4 312 |1

afo)



U9z (muyistHgaus y = f(X)

PN

annsuETitisugaus f(x) =|x| &4 whimy

isHSAUSISIRRY
ifamstinmeantugoniels
A. annuRhiisHgAuS f 9
idams f(x) =|x| Annamsdin: vxeR 9
mulwySwismni fams

f'(x):r!imo f(x+hz]— f(x)
| x+h|—|x]|

= lim
h—0

_lim | x+h[=[x] |x+h[+[X]
h—0 h | X+h|+]x]
. |x+h|?=|x]|?

~ho0 h(|x+h|+]x])

]



(x+h)? — x?

h—0 h(|x+h|+]|x])
2 2y o2
_lim (x“+2xh+h%) —x

h—0 h(|x+h|+]|x])

B h(2x + h)
h—0 h(|x+h|+]|Xx])
B 2x+h
h—0 | X+h|+]|X]
2x+0 2X | x| .
= = = gime
| Xx+0|+|x| 2]|x] X

x = 0 im0 x =0 8§13

£y = fim FO+M = (O
h—>0" h

|0+h[-[0]

= |im
h—>0"

= lim —h =-1
h—0"

Sh

£(0")— tim 1N = £©)
h—ot h

_ i 10+0I=10]
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whw f'(07) = f'(07)
$12) f(x) msifiph x =019 9

x|

§oiss f'(X) = — im: x =0 i5 f(x) SR
X
B x =019 9

2. wdmuisHsaus f 9
SRR

x|-4|-3|-2|-1]0|1/2|3]|4

Y1 4 13| 2 ]1]0]1]2[3]4

ngaus y = f(x) wsmhidoig e [c, d]
moam hwsigiiidoigeida (c, d) wiwisipi
dapogh c 8k d

M https:/Amww.brainkart.com/article/The-concept-of-derivative_36101/
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f(c+Ax) — f(c)

f'(c)= Ilim

Ax—0t AX

i ) — £(©)
h—0 h

S f'(d)= lim -4+ - T(d)

AX—0" AX

_ i F@=h) - (@)
h—0 h

iR h=Ax>0

é. §5BEEHS
ahiRnAts: iRShpnwunAgiivesiA: Sk U
yeinwismiiywissonigls

[

BsejHEEREHS

Fa\
em

(-4

i HsAYS f(X) 8% g(x) visimnie

- SimeRuynaisHgAuSs y = F(X) + g(x)
iiamb y = F(X) 9
iwams F(x) = f(x) + g(x) §4
F(x+h)—F(x)
=(f(x+h)+g(x+h)) = (f(x) + 9g(x))
=(f(x+h)—f(x) + (g(x+h) —g(x))

MuSwusw fams

Jald



F(x+h) — F(x)

y'=F'(x) = hIim

—0 h
_ lim f(x+h) - f(x) = lim g(x+h) —g(x)
h—0 h h—0 h

= f'(X) + g'(x) Digneagavs f(x) §% g(x)
N SIRTH
Boiss i y=f(x)+g(x) 1z y'= £'(x)+g'(x) 4

- SimeRuRaisHgAYS: y = f(X) — g(X)
ifiuml y = F(X) 4
s F(x) = f(x) — g(x) §4
F(x+h)-F(x)
=(f(x+h)—g(x+h)) - (f(x) —9(x))
=(f(x+h)—f(x) - (g(x+h) —g(x))
muSwusw ifhms
F(x+h) — F(x)

'=F'(x) =i
A S
_lim f(x+h) - f(x) lim g(x+h) —g(x)
h—0 h h—0 h

= f'(X) — g'(x) figneugaus f(x) 8 g(x)
HNSIRNT 9
Ro1ss i y=f(X)—g(X) i y'= f'(x)-g'(x) “
- SimsHSAYSRUANNSSSIBISNHSAYSS
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